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Exercise 1

f(x) = xe−(x−1)
2

f̃(k) =
1

2π

∫ ∞
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dx f(x) e−ikx
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1
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1
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∫ ∞
−∞
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Exercise 2

(1)

∫ ∞
−∞

dx ex δ(x+ 1) =

∫ ∞
−∞

dx ex δ(x− (−1))

= ex |−1
= e−1∫ ∞

−∞
dx ex δ(x+ 1) =

1

e

(2)

xi
2 − 3xi + 2 = 0

=⇒ x1 = 2, x2 = 1, i = 1, 2(
x2 − 3x+ 2

)′∣∣∣
xi

= 2xi − 3

= ±1

δ
(
x2 − 3x+ 2

)
=

n∑
i=1

δ(x− xi)∣∣(x2 − 3x+ 2)
′∣∣
xi

=
δ(x− 2)

|1|
+
δ(x− 1)

| − 1|
= δ(x− 2) + δ(x− 1)

=⇒
∫ 0

−3
dx δ

(
x2 − 3x+ 2

)
=

∫ 0

−3
dx δ(x− 2) +

∫ 0

−3
dx δ(x− 1)

=

∫ 2

−5
da δ(a) +

∫ −1
−4

db δ(b)∫ 0

−3
dx δ

(
x2 − 3x+ 2

)
= 0

(3)

∫ ∞
−∞

dx cosx δ′(x) = −(cosx)′|0

= sinx|0∫ ∞
−∞

dx cosx δ′(x) = 0
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(4)

sin

(
1

xi

)
= 0

=⇒ xi =
1

iπ
, i ∈ Z∗(

sin

(
1

x

))′∣∣∣∣∣
xi

= cos

(
1

xi

)
1

xi2

= cos (iπ) (iπ)
2

= ±i2π2

δ

(
sin

(
1

x

))
=
∑
i

δ(x− xi)∣∣∣(sin ( 1x))′∣∣∣
xi

=
∑
i∈Z∗

δ
(
x− 1

iπ

)
i2π2

=⇒
∫ 1

0

dx δ

(
sin

(
1

x

))
=

∫ 1

0

dx
∑
i∈Z∗

δ
(
x− 1

iπ

)
i2π2

=
1

π2

∞∑
i=1

1

i2

∫ 1

0

dx δ

(
x− 1

iπ

)
integral vanishes ∀ i < 0

=
1

π2

∞∑
i=1

1

i2

∫ 1− 1
iπ

− 1
iπ

dui δ(ui) ui = x− 1

iπ

0 <
1

iπ
< 1 ∀ i > 0 =⇒ − 1

iπ
< 0 < 1− 1

iπ
∀ i > 0

=⇒
∫ 1

0

dx δ

(
sin

(
1

x

))
=

1

π2

∞∑
i=1

1
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=
1

π2

π2

6∫ 1

0

dx δ
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(
1

x

))
=

1

6
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Exercise 3

(5)

h(x) = e−αx
2

h̃(k) =
1

2π

∫ ∞
−∞

dx e−αx
2

e−ikx

=
1

2π

∫ ∞
−∞

dx e−αx
2−ikx

=
1

2π

∫ ∞
−∞

dx e−α(x+
ik
2α )

2
+

(ik)2

4α completing the square

=
1

2π

∫ ∞
−∞

du e−αu
2

e−
k2

4α u = x+
ik

2α

= e−
k2

4α
1

2π

∫ ∞
−∞

du e−αu
2

h̃(k) =
1

2
√
πα

e−
k2

4α Gaussian integral:

∫ ∞
−∞

dx e−αx
2

=

√
π

α

(6)

p(x) = e−α(x−b)
2

p̃(k) =

∫ ∞
−∞

dx e−α(x−b)
2

e−ikx

=

∫ ∞
−∞

du e−αu
2

e−ik(u+b) u = x− b

= e−ikb
∫ ∞
−∞

du e−αu
2

e−iku

= e−ikb h̃(k)

p̃(k) =
1

2
√
πα

e
−
(
k2

4α+ikb
)
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(7)

f(x, y, z) = x2 e−x
2

e−y
2

e−z
2

f̃(k, l,m) =

(
1

2π

)3 ∫ ∞
−∞

dx e−ikx
∫ ∞
−∞

dy e−ily
∫ ∞
−∞

dz e−imz f(x, y, z)

=

(
1

2π

∫ ∞
−∞

dxx2 e−x
2

e−ikx
)(

1

2π

∫ ∞
−∞

dy e−y
2

e−ily
)(

1

2π

∫ ∞
−∞

dz e−z
2

e−imz
)

= Fk
(
x2 e−x

2
)
Fl
(
e−y

2
)
Fm
(
e−z

2
)

Fl
(
e−y

2
)
=
e−

l2

4

2
√
π

Fm
(
e−z

2
)
=
e−

m2

4

2
√
π

Fk
(
x2 e−x

2
)
=

1

2π

∫ ∞
−∞

dxx2 e−x
2

e−ikx

=
1

2π

∫ ∞
−∞

dxx2 e−x
2−ikx

=
1

2π

∫ ∞
−∞

dxx2 e−(x+
ik
2 )

2
+ i2k2

4

=
e−

k2

4

2π

∫ ∞
−∞

dxx2 e−(x+
ik
2 )

2

=
e−

k2

4

2π

∫ ∞
−∞

du

(
u− ik

2

)2

e−u
2

u = x+
ik

2

=
e−

k2

4

2π

(∫ ∞
−∞

duu2 e−u
2

− ik
∫ ∞
−∞

duu e−u
2

− k2

4

∫ ∞
−∞

du e−u
2

)
=
e−

k2

4

2π

(
I1 − ik I2 −

k2

4
I3

)
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I1 =

∫ ∞
−∞

da a2 e−a
2

=

∫ ∞
−∞

da a

(
−1

2

d

da
e−a

2

)

= −a
2
e−a

2
∣∣∣∞
−∞

+
1

2

∫ ∞
−∞

da e−a
2

u = a

dv = −1

2

d

da
e−a

2

= 0 +

√
π

2

=

√
π

2

I2 =

∫ ∞
−∞

db b e−b
2

=

∫ ∞
−∞

db

(
−1

2

d

db
e−b

2

)
= −e

−b2

2

∣∣∣∣∣
∞

−∞

= 0

I3 =

∫ ∞
−∞

dc e−c
2

=
√
π

=⇒ Fk
(
x2 e−x

2
)
=
e−

k2

4

2π

(√
π

2
− ik (0)− k2

√
π

4

)
=
(
2− k2

) e− k24
8
√
π

=⇒ f̃(k, l,m) =
(
2− k2

) e− k24
8
√
π

e−
l2

4

2
√
π

e−
m2

4

2
√
π

f̃(k, l,m) =
2− k2

32π
3
2

e−
1
4 (k

2+l2+m2)
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(8)

g(x, y) = δ(x) δ
(
y2 − y02

)
g̃(k, l) =

(
1

2π

)2 ∫ ∞
−∞

dx e−ikx
∫ ∞
−∞

dy e−ily g(x, y)

=

(
1

2π

∫ ∞
−∞

dx δ(x) e−ikx
)(

1

2π

∫ ∞
−∞

dy δ
(
y2 − y02

)
e−ily

)
= Fk(δ(x))Fl

(
δ
(
y2 − y02

))
Fk(δ(x)) =

1

2π

yi
2 − y02 = 0

=⇒ y1 = y0, y2 = −y0, i = 1, 2(
y2 − y02

)′∣∣∣
yi

= 2yi

δ
(
y2 − y02

)
=

n∑
i=1

δ(y − yi)∣∣(y2 − y02)′∣∣yi
=
δ(y − y0)
|2y0|

+
δ(y + y0)

| − 2y0|

=
δ(y − y0) + δ(y + y0)

2|y0|

=⇒ Fl
(
δ
(
y2 − y02

))
=

1

2π

∫ ∞
−∞

dy

(
δ(y − y0) + δ(y + y0)

2|y0|

)
e−ily

=
1

4π|y0|

(∫ ∞
−∞

dy δ(y − y0) e−ily +
∫ ∞
−∞

dy δ(y + y0) e
−ily

)
=

2π

4π|y0|

(
1

2π

∫ ∞
−∞

dp δ(p) e−il(p+y0) +
1

2π

∫ ∞
−∞

dq δ(q) e−il(q−y0)
)

p = y − y0
q = y + y0

=
1

2|y0|

(
e−ily0

2π

∫ ∞
−∞

dp δ(p) e−ilp +
eily0

2π

∫ ∞
−∞

dq δ(q) e−ilq
)

=
eily0 + e−ily0

2|y0|
F(δ(r))

=
cos(ly0)

2π|y0|

=⇒ g̃(k, l) =
1

2π

cos(ly0)

2π|y0|

g̃(k, l) =
cos(ly0)

4π2|y0|
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